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S1 Homework 36 
 

1 a) 365 × 80                 No calculator to be used in Question 1! 

 b) 673 × 700 

 c) 869 × 9000 

 d) 540 ÷ 30 

 e) 8500 ÷ 500 
   

2 If  p = 2, q = 4 and r = 8 evaluate:- 

 
 

a) r – p        b) 3p + 5q     c) r2 – p3    d) 
q

r
   e) 

p

rq +
 

 

3 Write as mixed numbers:- 

a)
7

9
          b) 

5

13
           c) 

6

23
          d) 

7

33
 

 

4 Calculate the area of these shapes 

  
 
 
 
 
 
 
5 Calculate the volume of this shape. 

 
 
 
 
 
 
 
 
 
 

 

Calculate the volume of this shape. 
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